BEREORE

1078 FE ER R B A

W5e T K S AR A R AR S A 2=
AR TR LT - A R BRI LT R - S VIR - GBI
— TR N BEF % S T T R
= BRI IREFTRELEE « (A - B - A - FiA
A 4 A DB ]S o [ A > P P e \Z ; A oS P fCL A ™
i an | wm gggﬁg;aéagﬁg ot o et i an | wm %géggﬁ maEEn | Taiet| A fer
B0 000 —E R0
(TP 1000 RSO0TLA RS (| WSS RS00TES AL (5
i 36240 | 8780 | g e 0 4| 46304 [ T | | 7913 | 13730 | 1000 0 4| s [ e R
) )
TP HERRSH
— g 36,240 8,780 0 0 374 45,394 R — 4 37913 13,730 1,000 0 374 53,017
K—(PUEh) 36,240 8,780 1,000 500 374 46,894 K—(VUFy) 37913 13,730 1,000 500 374 53,517
0
K (PUE) 36,240 8,780 (I%;_;?z% ’ 500 374 45,894 K Z(VUFY) 37913 13,730 1,000 500 374 53,517
EZ)
1000
_ (I 2 - 0 ~
K= (PUEY) 36,240 8,780 i 2 - BIEE 20 374 46,394 K=(HFLD 37913 13,730 1,000 0 374 53,017
B 20)
0
A (L) 36,240 8,780 (BHEE 2) (B%J*ﬁl% 374 45,394 APUPUEL) 37913 13,730 1,000 0 374 53,017
#IRH 1 108/11/15(
S -

(—) BB ARSI TR B S DB TR GRITEETE - IREE R EEIES1,5987T8 - HERE R EFHEES$1,492 7T -

(=) WRSEFmE LR « (DS

HEFTEES7$6,120 7T - TR ~ INEFTEEESY $5,100 T © QFEE © FE2$6,0007T -




